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Point out all the instances of tamyiz occurring in the main lesson and specify its kind in each of them.

/°/J§>$) c‘_sl.;w ,..WJ\ or RO

Point out the famyiz in the following sentences and specify its kind.
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Complete each of the following sentences with a suitable ramyiz.
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Change the ramviz to majriie in the following sentence.
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Use the word «¢ J#» in five sentences on the pattern ‘I want a fistful of sugar’.
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LESSON 30

LESSON 30

In this lesson we learn the following

(1) ]WM\ It is a noun used to specify and define an indeterminate idea contained in the previous word,
or in the whole sentence, e.g.:
To. Ty 2o g : :
a) . L= ‘J.:é < o+ ‘Idrank a litre of milk.’
The word | fé (litre) refers to an amount, but the meaning is not complete unless words like water,

milk oil, etc are mentioned.

b) .Lh> w‘ s V.Jb\ 2] “Ibrahim is better than I with regard to handwriting.’

There are many things in which one may be better than the other. In this example the word Ua.;-

specifies the particular aspect.
The tamyiz is mansiib.
There are two kinds of /aniviz:

a) R ém;;»‘. This comes after words denoting quantity. There are four kinds of quantity

1) | (number), e.g.:

,

\.S ﬂ,c»\ )Q L

‘O my father I saw (in a dream) eleven stars * (Qur’an, 12: 4).
The tamyiz of numbers is mansiib after 11 to 99. After 3 to 10 it is plural and majriir, and
after 100 and 1000 it is singular and m«jriir as we have seen in Book Two (Lesson 24).

2
2) K}-LWJ\ (linear measurement), e.g.:

}o/

\J:J;- ‘j«ﬂ ;,.:JM»\ ‘I bought one metre of silk.’
3) J;Q\ (measure of capacity/volumg), e.g.

Lﬁ.}é— uz};/s wﬁ/zofj ‘Give me two litres of milk.’
4) 1)335\ (weight) e.g.:

V\.&.:” %) S ‘I have one kilogram of oranges.’
f
Words resemblmg words of quantity also take ramviz, e.g.:

1) The word ;,../f ‘how many’ resembles the number, e.g.:

¢ EJJ \.::: ;,:f ‘How many daughters have you?’
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LESSON 30
2) Y 31, 56 sLA s
‘There is not in the sky a piecé of cloud the size of a palm of the hand.’.
Here the words 5\9—\ ) 33:3 ‘the size of a palm’ resembles words denoting linear

measurement.

3). \.&é:: h/f s :}:A ‘Have you got a sack of flour?’.

Here the word :,M;/f ‘sack’ resembles words denoting measure of capacity.

& 7 Wz % e
Do v s 555 Mt Jlag oo e

‘Whoever does an atom’s weight of good will see it.” (Qur’an, 99:7).

Here the words §3.> J\iLg & ‘atom’s weight’ resembles words denoting weight.

The tamyiz al-dhdt may also be majriir either because of the preposition :fg or because of its

being muddf ilayhi, e.g.:

# ~ (2° }o/: ) 2° JO/i
‘ﬁf \Jwg g_,..gfwuicanalsobe RO \f,g %;Mi

°
}0/:'

o e G
But this rule does not apply to the ramvz’z%% the number, which has its own rules.
b) 5\.&3\ f./w; It is used to specify and define an indeterminate idea contained in the whole
sentence, €.g.:
4\.3.1.;- d,.ﬂja.ﬂ Jda &,i..;- “This student is good with regard to manners.’
This tamyiz can be construed as either the /i '/ or the maf"iil bihi of the sentence, e.g.:
;\.5.1;- 3)’\; :J.i.;- ‘Bilal is good with regard to manners.’
can be construed as:
. L)})\.: :;i:— &i«; ‘Bilal’s manners are good.’ (fa ‘i/).

2.0
’9 P

G 8 e T w4
g G );.L uo )Y\ G 29 6 ‘We exploded the earth with springs.” (Qur’an, 54:12),
can be construed as:

. upjy\ Z) j;.}c b;.;;j ‘We exploded the springs of the earth’ (maf il bihi).

This tamyiz is always mansiib, and cannot be majrir. D

! There are certain exceptions which we can learn later.
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LESSON 30

(2) One of the patterns of the masdar is :}:3 (fu‘l-un), e.g.:

“# 2
& 4% ‘he drank’ O ‘drinking’

e

:S,; ‘he thanked’ jog.j“» ‘thanks’.

(3) We have learnt ;,ﬂ;fz;ﬁ\ :}xﬁ (the verb of wonder) in Book Two (Lesson 9), e.g.:
!%éﬁ\ ;Ll.;—\ ls ‘How beautiful the stars are!’
This verb has another form. It is 4 J”\’ €.g.:

P o % A o £
'(* };;J\ }if\ L« ‘How numerous the stars are!” =! ¢ );L:Jb ;;f\

T

P AT : o
L (1 " —
!oju\ Lo How poor he is! !5\.;’).59

Both these forms have been used in the Qur’an:

5 We )\EJ\ L}C (;.tbjt.:o\ ee « ‘How patiently they can endure fire!” (2:175).

() s £
| can | & ‘How clearly He sees and how keenly He hears!” (18:26).

z
The word 4, has been omitted after C?.ﬁu\ to avoid repetition.

(.24, -~ tomake, £.17 - w70
( manufacture (a-a) (c C) C ' factory
w  OF o TR PEY
(Q\»}J\ z ) ij colour (ub—}j a ) 4}}) chart, poster
?. 1 4 s - . P »® il e 7 . il .
\3’)’\»\ JL@-\ to differ (viii) (f\"}\ C) ;.>L>- size
28 . -
iz joy, delight Calises  different
A>mgs Oy g ,,
FE . Al i
¢ Lo acubic measure 5'\3 J\.w the sright ot an
- z - atom
”La < o . @ - 7 tocontain, to “’\\ >\ summar
A comprise (V) W y
“.\ elucidation, explanation, ®
QL") indication T warley
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side, direction (t)J\ C) &\).;
(gr) what is determined by counting,
weighing, cubic measure or liner measure

(UL%‘ z) 3‘%
/B);J (<) u>=5

(1) repose, rest L
(2) palm of the hand =l

ST ) oS

flour EJ,‘)

palm of a hand a0

to liken (ii)

extent, amount

jar

(including the fingers) J'“Wv o
to bring to end, to ‘

eliminate, remove (iv) u‘*"
to make water gush forth, B o8
to explode (ii)

to deal with the subject oy

matter in detail (ii)

Lk Sk O
Lol A g
() 7) 38

to be cheerful
municipality

A0 ZG_ . Zu g 6‘4//&/
wheat (<0329) 835a (139 39 3

152 sa

to abstain,
renounce (i-a)

181

cubit

an ancient weight

to become attached

(i-a)

clouds

sack

a quantity which fills
something

to explain, expand,
elucidate (ii)

to be good, beautiful

vague, ambiguous,
unspecified

to plant

to be good, pleasant
(a-1)

companion
to like, love, wish,
want (a-1)

to become
intoxicated (i-a)



